
� No.252A約両方-10-1 �

No.252A約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.528÷ 0.09 (2) 0.0353÷ 0.006

(3) 0.428÷ 0.03 (4) 0.157÷ 0.03

(5) 0.679÷ 0.006 (6) 8.71÷ 0.03

(7) 48.3÷ 0.9 (8) 1.87÷ 0.003

(9) 7.55÷ 0.3 (10) 31÷ 0.9

� 13th-note �



� No.252A約両方-10-1 �

No.252A約両方-10-1 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.528÷ 0.09
5.9
5.86 · · ·

(2) 0.0353÷ 0.006
5.9
5.88 · · ·

(3) 0.428÷ 0.03
14
14.2 · · ·

(4) 0.157÷ 0.03
5.2
5.23 · · ·

(5) 0.679÷ 0.006
110
113 · · ·

(6) 8.71÷ 0.03
290
290 · · ·

(7) 48.3÷ 0.9
54
53.6 · · ·

(8) 1.87÷ 0.003
620
623 · · ·

(9) 7.55÷ 0.3
25
25.1 · · ·

(10) 31÷ 0.9
34
34.4 · · ·

� 13th-note �



� No.252A約両方-10-2 �

No.252A約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 463÷ 0.9 (2) 3.13÷ 0.009

(3) 21.5÷ 0.07 (4) 9.68÷ 0.3

(5) 0.0569÷ 0.009 (6) 5.33÷ 0.9

(7) 0.032÷ 0.009 (8) 0.747÷ 0.007

(9) 98.4÷ 0.7 (10) 0.583÷ 0.07

� 13th-note �



� No.252A約両方-10-2 �

No.252A約両方-10-2 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 463÷ 0.9
510
514 · · ·

(2) 3.13÷ 0.009
350
347 · · ·

(3) 21.5÷ 0.07
310
307 · · ·

(4) 9.68÷ 0.3
32
32.2 · · ·

(5) 0.0569÷ 0.009
6.3
6.32 · · ·

(6) 5.33÷ 0.9
5.9
5.92 · · ·

(7) 0.032÷ 0.009
3.6
3.55 · · ·

(8) 0.747÷ 0.007
110
106 · · ·

(9) 98.4÷ 0.7
140
140 · · ·

(10) 0.583÷ 0.07
8.3
8.32 · · ·

� 13th-note �



� No.252A約両方-10-3 �

No.252A約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.25÷ 0.003 (2) 33.2÷ 0.09

(3) 3.4÷ 0.6 (4) 5.9÷ 0.006

(5) 44.4÷ 0.7 (6) 0.0928÷ 0.006

(7) 55.3÷ 0.9 (8) 0.127÷ 0.003

(9) 0.695÷ 0.03 (10) 0.016÷ 0.003

� 13th-note �



� No.252A約両方-10-3 �

No.252A約両方-10-3 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 0.25÷ 0.003
83
83.3 · · ·

(2) 33.2÷ 0.09
370
368 · · ·

(3) 3.4÷ 0.6
5.7
5.66 · · ·

(4) 5.9÷ 0.006
980
983 · · ·

(5) 44.4÷ 0.7
63
63.4 · · ·

(6) 0.0928÷ 0.006
15
15.4 · · ·

(7) 55.3÷ 0.9
61
61.4 · · ·

(8) 0.127÷ 0.003
42
42.3 · · ·

(9) 0.695÷ 0.03
23
23.1 · · ·

(10) 0.016÷ 0.003
5.3
5.33 · · ·

� 13th-note �



� No.252A約両方-10-4 �

No.252A約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 1.57÷ 0.006 (2) 3.77÷ 0.009

(3) 0.333÷ 0.06 (4) 2.83÷ 0.007

(5) 0.0135÷ 0.006 (6) 47.3÷ 0.7

(7) 0.0659÷ 0.007 (8) 3.06÷ 0.007

(9) 201÷ 0.6 (10) 110÷ 0.3

� 13th-note �



� No.252A約両方-10-4 �

No.252A約両方-10-4 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 1.57÷ 0.006
260
261 · · ·

(2) 3.77÷ 0.009
420
418 · · ·

(3) 0.333÷ 0.06
5.6
5.55

(4) 2.83÷ 0.007
400
404 · · ·

(5) 0.0135÷ 0.006
2.3
2.25

(6) 47.3÷ 0.7
68
67.5 · · ·

(7) 0.0659÷ 0.007
9.4
9.41 · · ·

(8) 3.06÷ 0.007
440
437 · · ·

(9) 201÷ 0.6
340
335

(10) 110÷ 0.3
370
366 · · ·

� 13th-note �



� No.252A約両方-10-5 �

No.252A約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 4.66÷ 0.03 (2) 37.4÷ 0.09

(3) 0.38÷ 0.07 (4) 0.0771÷ 0.007

(5) 59.8÷ 0.9 (6) 4.3÷ 0.009

(7) 0.0923÷ 0.009 (8) 8.93÷ 0.7

(9) 12.2÷ 0.3 (10) 3.56÷ 0.009

� 13th-note �



� No.252A約両方-10-5 �

No.252A約両方-10-5 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 4.66÷ 0.03
160
155 · · ·

(2) 37.4÷ 0.09
420
415 · · ·

(3) 0.38÷ 0.07
5.4
5.42 · · ·

(4) 0.0771÷ 0.007
11
11.0 · · ·

(5) 59.8÷ 0.9
66
66.4 · · ·

(6) 4.3÷ 0.009
480
477 · · ·

(7) 0.0923÷ 0.009
10
10.2 · · ·

(8) 8.93÷ 0.7
13
12.7 · · ·

(9) 12.2÷ 0.3
41
40.6 · · ·

(10) 3.56÷ 0.009
400
395 · · ·

� 13th-note �



� No.252A約両方-10-6 �

No.252A約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 6.42÷ 0.09 (2) 9.04÷ 0.09

(3) 74.1÷ 0.6 (4) 263÷ 0.9

(5) 20.9÷ 0.3 (6) 27.4÷ 0.9

(7) 0.365÷ 0.03 (8) 9.94÷ 0.03

(9) 14.7÷ 0.6 (10) 0.0117÷ 0.007

� 13th-note �



� No.252A約両方-10-6 �

No.252A約両方-10-6 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 6.42÷ 0.09
71
71.3 · · ·

(2) 9.04÷ 0.09
100
100 · · ·

(3) 74.1÷ 0.6
120
123 · · ·

(4) 263÷ 0.9
290
292 · · ·

(5) 20.9÷ 0.3
70
69.6 · · ·

(6) 27.4÷ 0.9
30
30.4 · · ·

(7) 0.365÷ 0.03
12
12.1 · · ·

(8) 9.94÷ 0.03
330
331 · · ·

(9) 14.7÷ 0.6
25
24.5

(10) 0.0117÷ 0.007
1.7
1.67 · · ·

� 13th-note �



� No.252A約両方-10-7 �

No.252A約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 265÷ 0.3 (2) 5.45÷ 0.09

(3) 4.9÷ 0.06 (4) 4.27÷ 0.09

(5) 51.2÷ 0.7 (6) 4.15÷ 0.3

(7) 2.08÷ 0.03 (8) 0.0249÷ 0.009

(9) 4.67÷ 0.3 (10) 284÷ 0.7

� 13th-note �



� No.252A約両方-10-7 �

No.252A約両方-10-7 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 265÷ 0.3
880
883 · · ·

(2) 5.45÷ 0.09
61
60.5 · · ·

(3) 4.9÷ 0.06
82
81.6 · · ·

(4) 4.27÷ 0.09
47
47.4 · · ·

(5) 51.2÷ 0.7
73
73.1 · · ·

(6) 4.15÷ 0.3
14
13.8 · · ·

(7) 2.08÷ 0.03
69
69.3 · · ·

(8) 0.0249÷ 0.009
2.8
2.76 · · ·

(9) 4.67÷ 0.3
16
15.5 · · ·

(10) 284÷ 0.7
410
405 · · ·

� 13th-note �



� No.252A約両方-10-8 �

No.252A約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 2.78÷ 0.006 (2) 0.0636÷ 0.007

(3) 0.0251÷ 0.006 (4) 271÷ 0.6

(5) 3.94÷ 0.06 (6) 4.4÷ 0.006

(7) 77.5÷ 0.09 (8) 0.517÷ 0.06

(9) 9.25÷ 0.07 (10) 0.0118÷ 0.007

� 13th-note �



� No.252A約両方-10-8 �

No.252A約両方-10-8 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 2.78÷ 0.006
460
463 · · ·

(2) 0.0636÷ 0.007
9.1
9.08 · · ·

(3) 0.0251÷ 0.006
4.2
4.18 · · ·

(4) 271÷ 0.6
450
451 · · ·

(5) 3.94÷ 0.06
66
65.6 · · ·

(6) 4.4÷ 0.006
730
733 · · ·

(7) 77.5÷ 0.09
860
861 · · ·

(8) 0.517÷ 0.06
8.6
8.61 · · ·

(9) 9.25÷ 0.07
130
132 · · ·

(10) 0.0118÷ 0.007
1.7
1.68 · · ·

� 13th-note �



� No.252A約両方-10-9 �

No.252A約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 78.7÷ 0.09 (2) 6.04÷ 0.03

(3) 9.1÷ 0.06 (4) 19.9÷ 0.3

(5) 0.0293÷ 0.009 (6) 54.1÷ 0.3

(7) 22÷ 0.07 (8) 3.35÷ 0.009

(9) 179÷ 0.6 (10) 183÷ 0.9

� 13th-note �



� No.252A約両方-10-9 �

No.252A約両方-10-9 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 78.7÷ 0.09
870
874 · · ·

(2) 6.04÷ 0.03
200
201 · · ·

(3) 9.1÷ 0.06
150
151 · · ·

(4) 19.9÷ 0.3
66
66.3 · · ·

(5) 0.0293÷ 0.009
3.3
3.25 · · ·

(6) 54.1÷ 0.3
180
180 · · ·

(7) 22÷ 0.07
310
314 · · ·

(8) 3.35÷ 0.009
370
372 · · ·

(9) 179÷ 0.6
300
298 · · ·

(10) 183÷ 0.9
200
203 · · ·

� 13th-note �



� No.252A約両方-10-10 �

No.252A約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 35.5÷ 0.6 (2) 0.851÷ 0.009

(3) 0.0906÷ 0.009 (4) 613÷ 0.9

(5) 0.0136÷ 0.006 (6) 0.0322÷ 0.006

(7) 9.07÷ 0.06 (8) 0.446÷ 0.09

(9) 2.75÷ 0.006 (10) 8.76÷ 0.09

� 13th-note �



� No.252A約両方-10-10 �

No.252A約両方-10-10 （ 点） （ 分 秒）

割り算して、商を上から 2けた答えなさい。割り切れなければ四捨五入しなさい。（１問 10点）

(1) 35.5÷ 0.6
59
59.1 · · ·

(2) 0.851÷ 0.009
95
94.5 · · ·

(3) 0.0906÷ 0.009
10
10.0 · · ·

(4) 613÷ 0.9
680
681 · · ·

(5) 0.0136÷ 0.006
2.3
2.26 · · ·

(6) 0.0322÷ 0.006
5.4
5.36 · · ·

(7) 9.07÷ 0.06
150
151 · · ·

(8) 0.446÷ 0.09
5.0
4.95 · · ·

(9) 2.75÷ 0.006
460
458 · · ·

(10) 8.76÷ 0.09
97
97.3 · · ·

� 13th-note �


